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Ex. 1—Add these vectors: 35 m at 30° and 60 m at 160°.   

Additional Adding Vector Examples 
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Add 180° to 

your angle be-

cause it is obvi-

ously not in the 

4th quadrant.  

Step 1. Resolve vectors into their components.  

Step 3. Calculate R’s magnitude and direction.   

Step 2. Calculate xtotal and ytotal  
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Ex. 2—Add these vectors: 1250 m/s at 90° and 2600 m at 320°.   

These additional examples are for 

students to visualize the process of 

adding vectors.  It is assumed that 

students can already calculate 

components. 

Step 1. Resolve vectors into their components.  

Step 3. Calculate R’s magnitude and direction.   

Step 2. Calculate xtotal and ytotal  

θ2 = 320º 


